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=2

PO 1. 140 X5, 22700 (F2K)



sk dr RERHE (£) (R) 0O

700X 2>1388 BEfTERfEm—2F, 4.2.4X110+(2.4-0.2) =120(F£) 122+ 152 =216 2. FJE:80—20=60CK)
o 5. [124- (10.8X8+16)] +8=2.7(5T) =8 (80 +60) X 50+ 2= 3500CF )5 )
140X 5. 2= 728(F-4) 6. (60X3+60X3+28,5%X2) +3=139(FH) 2RI kK 20 K 3500 =7 = 500(4)
1388 +2=694(T-K) DREMESE(Z) Qx+x)X2=24 3.30X8=3x8=216CFJ%)
694728  FefTE R —F, 1 . =4 41005 5%2= 40045
L (204+26) X T+2=161 (4D by 20T Kiax2=80K) HBLSX4- 2P SRETETE (L)
16115~ 110 . 356 ddm 2m 3R RN « TR, 132 2.7.5 318 4.9 5% 12 6.72
- (D2.8X13=36. 400 SIS R A 0.8(x+2—7)=140 LB 2.C 3B 4A 5C
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0.4 5.98.75
9.975 8.153
B 22A 3C 4B 5A C 6.B 7.C
0.98 25.10 "W
9.66+3.22+0.25

=3-+0.25

=12

19. 6X10. 1
=19.6X10+19.6X0.1
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